BRH76

BRH91 L & -

\
\
0

0o —8i~

2 |
° HE 370 ftIb
TOC 19 500 Nm
9o o 21
= 18
¥ ©
o /
o 14
251t | 44 22 7 LpmP 20—

34 Nm \

1200 Nm )

360 psi
25 bar

\
\\
(O
!

No longer supplied
Plus fourni
ausverkauft

No mas suministrado

(-
AN
0(’G
|

P Supplied while stocks last
” Fourni jusqu’a épuisement du stock
geliefert solange der Vorrat reicht
Suministrado hasta agotar las existencias

® Parts included in seal kit ® Pigces comprises dans pochette rechange ® Teile die im Dichtungssatz enthalten sind ® piezas incluido en la bolsa de recambio



BRH 76
BRH 91

48

47

No longer supplied
Plus fourni
/ ausverkauft
No mas suministrado

Supplied while stocks last
Fourni jusqu’a épuisement du stock
geliefert solange der Vorrat reicht
Suministrado hasta agotar las existencias



BRH 76/91

Repére Quantité e - . . .
o Quantity CPN 91 CPN 76 Description Désignation Beschreibung Descripcion
Position
Anzahl
1 1 Energy chamber Réservoir d'énergie Energispeicher Reserva de energia
1.1 1 86265048 86265048 Inflating screw Vis de gonflage Fullschraube Tornillo de inflado
1.2 1 86241403 86241403 Ring Bague d'etancheité Ring Anillo de estanqueidad
1.3 1 86336112 86336112 Cover Couvercle Oberer flange Tapa
1.4 1 86336120 86336120 Diaphragm Membrane Membrane Membrana
1.5 1 86336104 86336104 Low flange Flasque inferieur Untere flanch Gualdera inferior
2 4 95848222 95848222 Screw CHc ( 7/8" UNF ) Vis CHc ( 7/8" UNF ) Schraube CHc ( 7/8" UNF) Tornillo CHe ( 7/8" UNF )
& 1 86355872 86355872 Back head Téte arriére Kopfteil komplett Cabeza trasera
4 1 86232741 86232741 O'ring Joint torique O-Ring Junta torica
5 2 86250081 86250081 O'ring Joint torique O-Ring Junta torica
6 1 86359627 86359627 Spring Ressort Feder Resorte
7 1 86359619 86359619 Valve Clapet Ventil Valvula
8 1 86220100 86220100 Adaptor Adapteur Adapter Adaptator
9 1 86259215 86259215 Plastic plug Bouchon plastique Plastikstopfen Tapon de plastico
10 2 86237609 86237609 O'ring Joint torique O-Ring Junta torica
11 1 86361649 86361649 Slide Tiroir Ventilstift Corredera
12 1 86359502 86359502 Plunger Plongeur Plunger Vastago
13 1 86359510 86359510 Spring seat Butée siege de ressort Federfihrung Tope de asiento de resorte
14 1 86270691 86270691 O'ring Joint torique O-Ring Junta torica
{15 1 86359528 | 86359528 Adaptor Adapteur Adapter Adaptator
16 1 86259215 86259215 Plastic plug Bouchon plastique Plastikstopfen Tapon de plastico
17 1 86314044 86314044 Distributor Distributeur Steuerventil Distributor
18 1 86314051 86314051 Plunger Plongeur Plunger Vastago
19 1 86314085 86314085 Push rod Poussoir de plongeur Tauchplunger Empuje de vastago
20 1 86314077 86314077 Valve Clapet Ventil Valvula
21 1 86314069 86314069 Distribution cover Couvercle de distribution Steuerdeckel Tapa de distribucion
22 & 86307642 86307642 Pin Goupille Spannstift Pasador
23 1 86356250 Cylinder Cylindre Zylinder Cilindro
1 86364221 Cylinder Cylindre Zylinder Cilindro
1 86361623 Lining Chemise Fihrung Camisa
24 1 86361631 Lining Chemise Flhrung Camisa
4 86330321 Assembling bolt Vis d'assemblage Zuganker Tornillo de union
25 4 86314143 Assembling bolt Vis d'assemblage Zuganker Tornillo de union
26 2 86314150 86314150 Double nut Ecrou double Doppelmutter Tuerca doblada
For flow of 20 to 45 I/mn Pour débit de 20 a 45 I/mn fiir Olmenge von 20 bis 45 l/min. Para Flujo de 20 a 45 I/mn
27 1 86356284 Strike piston - Type A Piston de frappe - Type A Schlagkolben - Typ A Piston de golpeo - type A
28 1 86359544 Spring Ressort Feder Resorte
For flow of 35 to 57 I/mn Pour débit de 35 a 57 I/mn fiir Olmenge von 37 bis 57 l/min. Para Flujo de 35 a 57 I/mn
27 1 86356292 Strike piston - Type B Piston de frappe - Type B Schlagkolben - Typ B Piston de golpeo - type B
28 1 86359536 Spring Ressort Feder Resorte
For flow of 32 to 62 I/mn Pour débit de 32 a 62 I/mn fiir Olmenge von 32 bis 62 l/min. Para Flujo de 32 a 62 I/mn
27 1 86364239 Strike piston - Type C Piston de frappe - Type C Schlagkolben - Typ C Piston de golpeo - type C
28 1 86359544 Spring Ressort Feder Resorte
For flow of 50 to 100 I/mn Pour débit de 50 a 100 I/mn fiir Olmenge von 50 bis 100 I/min. Para flujo de 50 a 100 I/mn
27 1 86364247 Strike piston - Type D Piston de frappe - Type D Schlagkolben - Typ D Piston de golpeo - type D




BRH 76/91

Repére Quantité e - . . .
o Quantity CPN 91 CPN 76 Description Désignation Beschreibung Descripcion
Position
Anzahl

28 1 86359536 . Spring Ressort Feder Resorte
29 1 86314093 86314093 Front guide Guide avant Vorderzylinder Fondo
30 2 86314135 86314135 Retaining pin Axe de retenue Haltekeil Eje de retencion
31 2 86325792 86325792 O'ring Joint torique O-Ring Junta torica
32 1 86228962 86228962 O'ring Joint torique O-Ring Junta torica
33 1 86314101 86314101 Upper chuck bushing Douille supérieure obere Meilelhllse Manguita superior
34 1 86356557 86356557 Bushing ( seal holder ) Douille porte-joint Dichtungshtlse Manguita con suporte de junta
35 2 86262698 86262698 Lip seal Joint a levres Lippendichtung Junta de labios
36 1 86230059 86230059 Oiler Graisseur Schmiernippel Engrasador
37 1 86314119 86314119 Lower chuck bushing Douille inférieure untere MeiRelhllse Manguita inferior
38 2 86325800 86325800 Elastic pin Goupille élastique Spannstift Pasador elastico
39 2 86261260 86261260 Lock Verrou Riegel Cerrojo
40 2 86257714 86257714 Spring Ressort Riegelfeder Resorte
41 2 86226958 86226958 Elastic pin Goupille élastique Spannstift Pasador elastico
42 1 86345931 86345931 Plastic plug Bouchon plastique Plastikstopfen Tapon de plastico
43 1 86421898 | 86421898 Chisel Broche burin FlachmeiRel Cincel

1 86314218 86314218 Blunt tool Broche pilon Stampfful® Pilon

1 86449303 86449303 Moil point Ig. 750 Broche pic - Ig. 750 SpitzmeilRel (750 mm) Pica - 1g 750

1 86421880 86421880 Moil point Ig. 550 Std Broche pic - Ig. 550 std Spitzmeifl3el (550 mm) std Pica - Ig 550 estandar
44 2 86347853 86347853 Bolt Vis Zuganker Tornillo
45 4 86307493 86307493 Washers Rondelle frein Zahnscheibenpaar Arendela
46 2 86267846 86267846 Nut Ecrou Mutter Tuerca

(] 1 86356219 | 86356219 | Seal kit Pochette de joints Dichtungssatz Bolsa de recambio




	toc: 
	toc1: Back to Toc


